o @ % % 6 Multiplier les nombres décimaux par des puissances
négatives de dix

Nom: Date: Note:
2645,4 x 0.001 = 1589, 6 x 0.001 =
3469,2 x 0.0001 = 7020,2 x 0.1 =
6736,8 x 0.001 = 5965,7 % 0.0001 =
2267,9 % 0.001 = 4717,3 x0.0001 =
1365,5 x 0.1 = 1552,1 x 0.1 =
5001, 4 x 0.0001 = 2239,3x0.01 =
5342 x 0.1 = 4681,8 x 0.1 =
6956,3 x 0.01 = 8860 x 0.0001 =
7902, 6 x 0.0001 = 6380, 5 x 0.001 =
6645,8 x 0.01 = 1596, 3 x 0.01 =
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o @ % % 6 Multiplier les nombres décimaux par des puissances
négatives de dix

Nom: Date: Note:
2645,4 x 0.001 = 2.6454 1589, 6 x 0.001 = 1.5896
3469,2 x 0.0001 = 0.34692 7020,2 x 0.1 =702.02
6736, 8 x 0.001 = 6.7368 5965, 7 x 0.0001 = 0.59657
2267,9 x 0.001 = 2.2679 4717,3 % 0.0001 = 0.47173
1365,5 % 0.1 = 136.55 1552, 1 x 0.1 = 155.21
5001, 4 x 0.0001 = 0.50014 2239,3x0.01 =22.393
5342 x 0.1 = 534.2 4681, 8 x 0.1 = 468.18
6956, 3 x 0.01 = 69.563 8860 % 0.0001 = 0.886
7902, 6 x 0.0001 = 0.79026 6380, 5 x 0.001 = 6.3805
6645, 8 x 0.01 = 66.458 1596, 3 x 0.01 = 15.963
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